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What's the calculation?
Sheet 1

Look at the marks that Spider has ] 23
made on the 1 - 100 grid. 3 33
Write down the possible calculations
that Spider was working on.

24+30-54
54 -30 = 24
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Adding and subtracting 20, 30. 40 and 50
Sheet 2

1|2 8 | 9|10

11| 12 18 |19 | 20

21| 22 28 |29 | 30

31| 32 38 39| 40

41| 42 48 | 49 | 50

51| 52 58 | 59 | 60

61| 62 68 | 69 | 70

71| 72 78 | 79 | 80

81| 82 88 | 89 | 90

91| 92 98 | 99 | 100

101102 108|109 | 110

1) 36+20-= 7) 99-20=
2) 57+20= 8) 83-20-=
3) 41+30-= 9) 58-30-=
4) 64+30-= 10) 60-30=
5) 38+40-= 11) 87-40=
6) 42+50-= 12) 73-50=

Start on 9. Add 10, then add 20, then add 30, etc.
Stop when you get over 100.
Start on 4 and do the same.

Predict (without doing it) what you would get if you started on 1.
What number would you have to start on to subtract 10, then 20,
g then 30, then 40 and end up on 5?
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